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A EAINSH
A CAHE L OH
ol &2 S30A (SH &)
SA - ZE . BR(8) - HRAR - BES of v e HIDE2
[Ea 70,000
401 AIEHIX 20 100,000 100,000 0
=S 30,000
s 70,000
01 AlZ8| 100,000 100,000 0
OHHE JIg =32 ZEMY 100,000
< 30,000
Ea 70,000
ndzzelA= 609,300 431,300 178,000
T E(Z2E)HE 609,300 431,300 178,000
201 er23| 17,300 17,300 0
01 AlR22IH| 17,300 17,300 0
CnEES EEEERE
100,000 x 1473 9,800
otlEs1l= 1,500,0002 %52 7,500
203 gF=4| 2,000 2,000
03 A=A =] 2,000 2,000
o=z E gRFXN
20,0002 x10E 102 2,000
401 Al HIZ 01| 590,000 412,000 178,000
01 Al&H| 587,000 409,000 178,000
OLNdZ d¥aACIHE RS & 22 HE =
g 289(1x2) 400,000,000 * 14 400,000
OLnd= ZADI=HE MHolFod 24 &
A 50,000,000 *14! 50,000
O AAHEHZHMAI(UPIS) BXIZ EH| S
20,000,000& » 14 20,000
OTAIHEHEHAH(PIS) 2EEHI FX2te|
= 17,000,000 x14] 17,000
OFMZMNL MAAHE =8 EAQ(IX2)
100,000,000 * 14! 100,000
03 Al 20HHI 3,000 3,000 0
OAIE20HbI 3,000
CAAIEEH 4,930,600 4,757,000 173,600
= 75,000
= 316,000
s 4,539,600
SAAE RS S2EBISA 512,000 622,000 A110,000
201 er23 | 10,000 20,000 10,000
01 At2teltl 10,000 20,000 10,000
OZAIRE L &E2 &7 ZLAY 10,000
401 AIEHIX R0 502,000 602,000 100,000
01 A28l 500,000 600,000 100,000
OEAASEZ MR 200,000




M SALED
B CANE o
chelr SAIAEE] EER=E)
SA - ZE . BR(8) - HRAR - BES of v e HIDE2
OEAMAHEEZ SX2ALIAY 300,000
03 Al = THHI 2,000 2,000 0
OAlIE2THYI 2,000
CEANESFA2L 12,600 15,000 A2,400
201 fer= 3| 12,600 15,000 2,400
01 At 2|l 3,000 3,000 0
OXlotite HEE M) 28 Ud
250,000 * 122 3,000
2 35244l 9,600 12,000 2,400
OBSAXSAE AEFHISAY L 2222
400,000 * 12& 4,800
OTAHNEER IZE &IIQ3
300,000& * 128 3,600
OZAAHEEZ ZMz FE=
100,000« 12& 1,200
SAHEEZIHE S A 3,005,000 1,685,000 1,320,000
401 Al HIZL 048I 3,005,000 1,685,000 1,320,000
01 Al&HI 3,000,000 1,680,000 1,320,000
O=AAHE=2HM 1,000,000
OLHEN~-EeiS2Ac2 (22175 H) N
e 500,000
OFell =HEZ (22245 H) M4 100,000
O==AHe~+=20I82t Z2(AR22-63)
HESAH 200,000
OYSZAHEEZ(AZ1-245) HESA 200,000
OEXl HHI 2,000,000
OLHQUHERA-SSNINE2ACZ (23
195)HE 2 74 2,000,000
03 Al 20HHI 5,000 5,000 0
OAIE20HbI 5,000
=@ H&A 018 wsS:2d N2 35,000 35,000
307 el2to| & 35,000 35,000
06 28= 35,000 35,000
Oz NEA 0l wsS=2E A 36,000
DAMDIZ~URELT2 T2 (SZ21-10SH)HE S A 900,000 900,000
401 AIEHIZ SR OHYI 900,000 900,000
01 Al&HI 900,000 900,000
ORWALLIZ~-Y LU E2(S21-102
H) HEZA 900,000
X SII0E =8 HAAE LMY 316,000 100,000 216,000
= 316,000
401 A2 HIZL R 0HbI 316,000 100,000 216,000
= 316,000
01 AlZH| 316,000 100,000 216,000
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SA WS

A CAHE L OH
St TAIAEE EER=E)
SA - ZE . BR(8) - HRAR - BES of v e HIDE2
OEZ =JIHE F=8 AHAE AL 316,000
= 316,000
=2 FATZ NSHHAE EXNAS 150,000 0 150,000
= 75,000
= 75,000
401 Al HIZL 2048 150,000 0 150,000
= 75,000
o 75,000
01 Al&H| 150,000 0 150,000
O&=+2H FHATZ NSIHAIE EXIALS 150,000
= 75,000
o 75,000
CAITHA A 1,572,863 5,534,029 A3,9%61,166
= 1,201,000
= 240,200
o 131,663
A mEAE S22 131,663 1,696,029 1,564,366
101 21A4H| 93,663 222,029 A\128,366
04 JIZtN2 2N S 2+ 93,663 222,029 A\128,366
O ATHAEXIZME 21248| 93,663
O (7= 105= JIE) 52,794
—JlZ2= 2,819,500 < 1H+ 122 33,834
—A2tRI2R4E
11, 1302 10AI1 2+ 1H* 123 1,336
—JIEt =& (SAHl, oHl S)
9,443,400 x1H 9,444
—4i 282 44,613,000 *10% 4,462
—EANE3
44,613,000 /1204 2«18 3,718
OBY (8= 555 JIE) 40,869
—Jl2=s 2,075,500« 123 *1 24,906
—A2t2RsE
9,992 x10AI2Hx 1281 1,200
—JIEt =& (SAHIl, oHl &)
8,430,600 x1&H 8,431
—40f 8= 34,535,640 *10% 3,454
—EXAE= 34,535,640 /12E*1H 2,878
201 er23 | 32,000 42,000 10,000
01 At2teltl 9,000 9,000 0
O=AMEAIY 2SI 9,000
02 S3=gl 3,000 3,000 0
OFANY SS0ISAIE 2g2cHS 3,000
03 &A= 20,000 30,000 10,000
OFoAgdst T2 )H2Y 20,000
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A CAHE L OH
el SAITHAANS (SH9 H2)
SA - ZE . BR(8) - HRAR - BES of v e HIDE2
203 HR=H] 1,000 1,000
03 A=A 2= 1,000 1,000
CAITHY AP RN 1,000
301 LEtE N = 5,000 6,000 21,000
11 #AIAHIXIZ S 5,000 6,000 A1,000
OEAITHMFEOAM H&X| Ast
125,0002 x40 *13] 5,000
SAHY =LA (SED2ZXF) 1,176,000 2,040,000 864,000
= 980,000
= 196,000
101 @124H| 87,400 96,000 28,600
= 87,400
04 JIZtN2Z2 XS 2+ 87,400 96,000 28,600
OZAITHY HEXRHE AHI(3H) 87,400
== 87,400
201 er2 3| 129,080 116,680 12,400
[ 48,080
= 81,000
01 At 22|l 18,080 13,080 5,000
OSAITHY HHXJAME 2] 15,000
< 15,000
OZAIMEHHEA 2| 3,080
[ 3,080
02 S3=4gl 6,000 3,600 2,400
OFANY XM =Y 6,000
= 6,000
03 A=Y 105,000 100,000 5,000
OZAIMHENHEA 2 10,000
= 10,000
OUtS=F2UiEA 2d Z2NH=2E 15,000
= 15,000
OosstiEs FUI|ISsAY 15,000
= 15,000
O=0lduE ey Z238=d 20,000
== 20,000
ORE0tE TAITHAMME 2 15,000
= 15,000
O&=cl WFZZ )Y 29 10,000
= 10,000
OZAHMAMEES & Z2HEY 2H 10,000
= 10,000
OZANY HHAARS 29F 10,000
= 10,000
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A CAHE L OH
el SAITHAANS (SH9 H2)
SA - ZE . BR(8) - HRAR - BES of v e HIDE2
301 EtE NS 1,920 4,920 23,000
= 1,920
11 AALAHIXIES 1,920 4,920 23,000
OZAIMEHHE A FAX}F A
8,000&+208 x 123 1,920
= 1,920
307 21201 & 60,000 50,000 10,000
[ 40,000
= 20,000
02 LB HANHEE 40,000 30,000 10,000
CERENESTEI= IV
5,000,000 42l 20,000
= 20,000
ORsits2clEsSEe RIIMG XIS 20,000
= 20,000
04 QIZHHAMAIH 2 £ 20,000 20,000 0
OZe=3ME T2 8 29 20,000
< 20,000
401 AIZHIX 20 897,600 1,572,400 674,800
[ 890,000
= 7,600
01 AlZ8| 897,600 1,462,400 564,800
Osst 22T A FEAIS 897,600
= 830,000
= 7,600
SATHA AR (SUXIT) 265,200 1,798,000 21,532,800
= 221,000
< 44,200
201 er2 3| 43,240 57,640 14,400
= 43,240
01 At2t2lt] 6.240 14,040 A7,800
OZAINY HHHA 2| 6,240
= 6,240
2 S22l 4,000 3,600 400
OZAINY SEXHHE 2SI 4,000
< 4,000
03 &A= 33,000 40,000 A7,000
OZAIMY A A 2 3,000
== 3,000
OdLENg 22 18=2Y 15,000
=S 15,000
Olt=stE =g 10,000
= 10,000
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SA WS

A CAHE L OH
el SAITHAANS (SH9 H2)
SA - ZE . BR(8) - HRAR - BES of v e HIDE2
O0t= opgtoly 5,000
= 5,000
301 2eEN= 960 2,880 21,920
S 960
11 #AIAHIXI 2= 960 2,880 21,920
OFAMNY HHHEA FAXH 4|
8,000 x20H +63] 960
== 960
401 AIEHIX 20HH 221,000 1,644,000 21,423,000
[ 221,000
01 Al&H| 221,000 1,589,000 1,368,000
OdEUXIT SAINY =AY 221,000
= 221,000
nSAF N 7,204,076 7,115,499 88,577
= 33,550
= 569,732
=S 228,275
s 6,372,519
Hsuns=dg 1,570,979 1,403,773 167,206
= 33,550
= 520
Ea 1,536,909
nsdy 24 595,779 633,993 N38,214
201 Zet=3h] 537,523 532,944 4,579
01 AtR2te|HI 386,269 390,090 23,821
O=AIHY S2H| X&E
160,000 122 » 136K 261,120
O=AIHE WHHEl XI&
130,000 = 136CH 17,680
O=Al SIS 2ACIAAE 2]
1,829,000& 1,829
OEAIZ RS & X5
100,000 *5& »23] 1,000
O3gHA @8 X AR 2,700
OLNEH=EAl 0132 M=
495,000 12& 5,940
OuWSHTAIEE =& 96,000
ORNSHEIMM et 2l & HIIBA
2,000,000 *40JH 2 80,000
OuSUSIISUEANES HIAEEH S
= 80,0002 *2000H 2~ 16,000
02 S3=gl 151,254 142,854 8,400
O0ssR= € MA 122,100
OLHENAEHDIE S &= AFZR 900
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M SALED
M DEHE M
el 28 A (SH9 H2)
SA - ZE . BR(8) - HRAR - BES of v e HIDE2
< 8,755
s 470,885
307 lztol & 660,448 700,000 A39,552
= 180,808
== 8,755
[Ea 470,885
9 2= AHEXS 660,448 700,000 A39,552
O8lld =42d=s 660,448
= 180,808
=S 8,755
s 470,885
=g XA 1,266,157 1,415,863 A149,706
101 e124d| 6,157 5,863 2%
M ORNZZ2NSE S 6,157 5,863 294
Ot e WSS XA Q12|
76,9602 x5 +23| 89 6,157
307 el2tol & 1,260,000 1,410,000 /150,000
QB 2=gHEXS 1,260,000 1,410,000 150,000
ORIE2x3 1,200,000
Ot A2 60,000
SHEHA WSIE =8 K& 14,000 14,000 0
< 7,000
= 7,000
307 glztol & 14,000 14,000 0
= 7,000
= 7,000
02 2B YA E X 14,000 14,000 0
OZUHA WSIHE =8 XA 14,000
= 7,000
Ea 7,000
sHEHA WSotE HEes gel X 30,000 74,230 AN44,230
307 @I2t01 & 30,000 74,230 AN44,230
02 LB AAHEE 30,000 74,230 N44,230
OsHEHA NSIHE Hees XA 30,000
S0E =22 & usSdte gdat X3 At 30,000 0 30,000
= 15,000
= 15,000
307 elztol & 30,000 0 30,000
= 15,000
Ea 15,000
QB 2=gHEXS 30,000 0 30,000
OT A WSt 106 RSEQ X2 30,000
=S 15,000




M SALED
33 IS A
el 28 A (SH9 H2)
SA - ZE . BR(8) - HRAR - BES of v e HIDE2
| = 15,000
BARs JIEZM =5 K& 20,000 17,842 2,158
== 3,000
[Ea 17,000
307 212+01& 20,000 17,842 2,158
< 3,000
s 17,000
09 2+ AE2LS 20,000 0 20,000
OHAIRS HEZM =8 X 20,000
= 3,000
o 17,000
sHEHA HEXRS 12,000 100,000 88,000
=S 12,000
307 elztol & 12,000 100,000 288,000
= 12,000
09 2=FAHEXS 12,000 100,000 288,000
Os0EHA HEXRZS 12,000
[ 12,000
sHEHA HWEXZS(XHA) 1,000,000 800,000 200,000
307 @I2t01 & 1,000,000 800,000 200,000
09 2FSHEXS 1,000,000 800,000 200,000
Os0EHA HEXRS 1,000,000
DEASEA 2 543,000 360,000 183,000
s 180,000
s 90,000
s 273,000
307 @I2t01 & 543,000 360,000 183,000
[ 180,000
= 90,000
[Ea 273,000
B 2=gHEXS 543,000 360,000 183,000
OLEH=HAl 2Y 543,000
[ 180,000
= 90,000
o 273,000
sE UEXY MA(HAE) 300,000 0 300,000
[ 150,000
s 150,000
307 @I2t01 & 300,000 0 300,000
[ 150,000
[Ea 150,000
05 2ItRIE = 300,000 0 300,000




2A: SAlnsS
M NESHA A
el 28 A (SH9 H2)
SIA - BE - O9I(B) - NIRAIY - AR Ol b e HIR=2
OLNEE =sHA QUARAES 300,000
= 150,000
= 150,000
SHEHA HARIH SEBAS 150,000 150,000
307 212+01™ 150,000 150,000
09 2FHHEES 150,000 150,000
O=sHEHA HARQSH EAB4 150,000
=EE 1WS2Y MSE(HAE) [ DEZE 2 HA] 117,848 140,000 AN22,152
iy 58,924
= 58,924
101 21| 100,848 91,386 9,462
2 50,424
= 50,424
M IIRINZ2Z2XsSEs 100,848 91,386 9,462
O2™I|AF 2124H| 100,848
(@eiFal:] 115, 4403 *30 L « 123 «2H 83,117
= 41,558
= 41,559
O&l&Z 6,925
iy 3,463
= 3,462
O4th 2= 10,806
= 5,403
[ 5,403
201 B2 AY| 17,000 48,614 A31,614
= 8,500
= 8,500
01 AtR2elt] 2,000 20,000 A 18,000
OZSHA SOHRHAIE HEXIE &AM 2,000
iy 1,000
= 1,000
02 33=24H| 15,000 28,614 A13,614
OEHA REUH ¥ 44| 10,000
s 5,000
o 5,000
OEHA st AREE 5,000
= 2,500
= 2,500
WSAEE 22 1,352,194 1,749,868 AN397,674
& 92,000
= 1,260,194
HASHUDA 2el 326,194 383,328 A57,134
101 2124 d| 39,1#4 32,976 6,158




A SAIE
. NSHME A
Cel: WSAE=S 22l EER=E)
A - ZB - ERI(E) - KIRAY - BaS ol &4 e HIDEY
04 JIZtN22 X sSE+ 39,134 32,976 6,158
OLAIAS el2ib| 39,134
@)uFal:] 76,9602 x 150 +3H 34,632
(Ok=3=¥= 4,502
201 23] 20,500 22,000 A 1,500
01 AtR2telbl 13,000 14,500 A1,500
OMZ(HIS)H 2,000,000 *37H 2 6,000
OHDIZ(HASLE) AlIZE 2 =8 HA
- 2,000
OB AQHHE ==4H] 5,000
02 324l 7,500 7,500 0
OHDIE & 20IHEte A2 =4
2,500,000 *37H 2 7,500
307 212t01™ 84,360 83,352 1,008
05 glztel& = 84,360 83,352 1,008
OHASAIIL H4 D29t
14,0003 %3950 A=+ 123] 66,360
OHIEEI0IE 2| SIS
1,500,000& « 122 18,000
401 AIEHIZ SR HYI 182,200 245,000 62,800
01 A&l 182,200 245,000 262,800
OHAsAHUIIA A4 2 WX
7,500,000 * 1090 2~ 75,000
OHAZAIIY B4
1,500,000 2000 2~ 30,000
OHASAHUDIIY EHZ LEDXEY &X
1,800,000 * 100H 2 18,000
OHAsSHUIIA 2E2X £
3,700,000 * 1690 2~ 59,200
M AIEE 2t 842,000 1,366,540 Ab524,540
401 AlEHIZ 2 0HbI 842,000 1,102,540 A260,540
01 AlZH| 842,000 1,102,540 A260,540
oustsll & dE2s 2 193,000
Ok= WESdSI| = uHl
65,000,000 *10H 2~ 65,000
OLF WSHS MOl wH
8,000,000 *1JH 2~ 8,000
O=% 22s 8= IA
15,000,000 *40H A 60,000
OZEs & 60,000
OuNSHHAIEE RAEx 320,000
OusHII| RAES
90,000,000& =14l 90,000
OREQHEN 44 U SN2+
70,000,000 *14! 70,000




od
i’
oF
uJ

8 8 8 slglgls 8 8|8 °|e
S S S kI ! S|S
Kio
—Im
E=)
< < < 218|188 g e g8
o dlg|8| o 8|8
ol
uifed
RIS
S 88838 38|88 8|88 888 88|I3I8IBS8 8 88 28 8 S s 81818 818|8
S &5 8 9 988 Sleds o8 8 o olfYf|Ye s ©w ®»I ®mS o @® & & =[98 99|
g fg5e2833d|EdeE L B0 g we §¥ ¢ xy JN|a o dlglg
ol
<
S
H m WM WH
T = R ~ ~ A W W
& X 3 8 L [ I [ = =5
qma qma 3 S B ¥ ¥y ¥ ¢ 9 N
w | g g g ok 8 Eu8 g=z8 | £
o) s 8 S _B &S © F2ws = Ig <
- g R . I us S T i | I e _
a |5~ - o w o ﬂ.lu_..AuZou_uwu,_L_.m wﬂﬂ
< I= = 31 R0 & o = Ok [} B ol o %_
Ifor il = oo fw o O R *
X |z H _ = Rl ) A 0 ll = <] <| = =4 -
oy ROR W = 5K X Xz @A % ]
~ <J _ el Uo R .M m/_.rw w_.o_ ™ m_nAl/_.H__ 3 2SN N _.E D_v Nﬂ
— Wz Ao X _ ) L} .- i _
Bl & et~ D RJ (-l s Zf 4 5 o |Z
i ) 5[ = 5 G+ e m om0 o = @ =
5 lm 0 oo ®yRE o+ © sz 8 4 d4=r = 3 B nnr ¥
S|4 WD oM™ K o Sls|lm T o8 oF @m0 o O R R oF W |mi|w W |Gk
- | = & Rmo|R 5 5 3 ol R R R g ® K K R OBEIHIY R |D|S
®l E = ol ™ W U |o T o 3 D K13y (oF W RO %0 fo o PORE| El R0 iyl o W w|w
RO O o u O Oy = z R R ISul= @ K K oo S W K Orz0|a|s @m|<|=
. © © = 5 m@ Hx_.mmﬁuu@@%@ ©©©©©MM© sls
% 3 S Pl mrﬂz ! S
R =< |1
K-




A SAIE
g NSHME A
ol FXEA E2E (SH9 H2)
RA B - SRA(E) - MIRAR - B ol &4 e HIDEY
OSEFEXHS =X =M L AlE=E &
Xl 65,000
OZEUFEX sX+E HMLEH TA| 35,000
OFtd &4 & =T ANE= 22l 30,000
HHE2SZHI 63,860 68,906 A5,046
JI2ZE(SAIRED) 63,860 68,906 Ab5,046
HH =& HH 4,200 3,600 600
203 gR=| 4,200 3,600 600
04 FEXMSEYRFAH 4,200 3,600 600
ORMEZYE =] 350,000& * 128 4,200
2| 29,660 29,306 354
201 =3 29,660 29,306 354
01 AFS2t2ltl 28,760 28,406 354
Oo=gHl 8,000& x20H 32|« 12& 5,760
oget=ZH| 23,000
02 S3=24l 900 900 0
o0zE2= & HA 200
OAEZE IS X 700
01 30,000 36,000 26,000
202 044l 30,000 36,000 26,000
01 =LA LI 30,000 36,000 26,000
O=LH0{HI 30,000
MHRES(SARED) 100,000 310,000 A210,000
W HeH XIS (S AIDHEZ ) 100,000 310,000 210,000
ZII0IHSEZAHAEHANEUREY EEH &3 100,000 300,000 200,000
701 JIEFRIHISEES 100,000 300,000 200,000
01 JIEtel HEES 100,000 300,000 A.200,000
OIS HRIE4 SEH HES 100,000
HRES(SALRSE) 4,197,392 4,208,000 /10,608
WRHHXES(ZAI RS 4,197,392 4,208,000 /10,608
FUESEH HES 4,197,392 4,208,000 /10,608
701 JIEFRIAHISEES 4,197,392 4,208,000 10,608
01 JIEt=I AN ES 4,197,392 4,208,000 /10,608
OFX& S83H dE= 4,197,392




